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Question Number : 1 Question Id : 1282069382 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In a certain code, TEACHER is written as VGCEJGT. How would CHILDREN be written in
that code?

A EJKNEGTP
B. EGKNFITP
e EJKNFGTO
D. EJKNFTGP
Options:

128206370349, A
12820627100 B
12820637101, C
12820637102, D

Question Number : 2 Question Id : 1282069383 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In a certain language, ‘sun shines brightly’ is written as ‘ba lo sul’; ‘houses are brightly lit’
as ‘kadoulaariba’; and ‘light comes from sun’ as ‘dopikup lo nro’. What would the code
for ‘sun’ and ‘brightly’ be?

A. Basul

B. Sullo

C. Loba

D. Nanro
Options:
12820637103, A

12820637104 B
12820637105, C
12820637106, D

Question Number : 3 Question Id : 1282069384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If ROSE is coded as 6821; CHAIR as 73456; and PREACH as 961473, then what will be the

code for SEARCH?
A. 246173
B. 214673
C. 214763

D. 216473
Options:
12820637107 A
12820637108. B
12220637109, C
12820827110, D

Question Number : 4 Question Id : 1282069385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In an artificial language, Rabbonmiya means sweetheart; Gaffuniya means sugar powder;
Juooniga means lime juice, then

Which word could mean ‘Sweet Lime powder'?

. Rabbnigaraboonniya

Rabboniganiya

o w p

Rabbonigagaffu

D. Rabbojuocniya
Options:
12820637111, A
12820637112 B
12820637113, C
12820627114, D

Question Number : 5 Question Id : 1282069386 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If ‘She goes to school’ is Qz atv x gves; and ‘She meets her friend’ is Qz poiz tu cvxy

What could be ‘She went to school to meet a friend’
A. Qz cvxy x qves x spartv tu
B. Qz spatv x qves x poiz | cvxy
C. Qz cvxy x spatv x qves poiz

D. Qz spatv x atvx poiz tu cvxy
Options:
12820637115, A
12820637116. B
12820637117, C
12820637118. D

Question Number : 6 Question Id : 1282069387 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Complete the series 5, 16, 49, 104, ?

A R
B. 181
e, e
D. 161
Options:

12820637119, A
12820627120 B
12820637121, C
12820637122 D



Question Number : 7 Question Id : 1282069388 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Find out the missing number

20,19,17,2.,10. 5

A 14
B: I5
S
PR i |
Options:

12820637123, A
12820627124 B
12820637125 C
12820637126 D

Question Number : 8 Question Id : 1282069389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Complete the series 2,3, 5,9, 17, 33,65, 7

A 129

B. 35

C. 164

B L
Options:

12820637127, A
12820627128 B
12820637129, C
12820627120. D

Question Number : 9 Question Id : 1282069390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If Aisthe brother of B; B is the sister of C; and C is the father of D, how is D related to A?

A. Brother
B. Sister
C. Nephew

D. Cannot be determined
Options:
12820637131, &
12820637132, B
128206837133, C
12820837134, D

Question Number : 10 Question Id : 1282069391 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The total of the ages of A, B, and C is 80 years. What was the total of their ages three
years ago?

71
72
74

L) 1
Options:
12820637135 A
12820637136 B
128206371237, C
12320637128. D

O w >

Question Number : 11 Question Id : 1282069392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If you write down all the numbers from 1 to 100, then how many times do you write 3 ?

A, 11
B. 18
C. 20
B 21

Options:

12820637139 A
12320627140 B
12820827141, C
12820637142, D

Question Number : 12 Question Id : 1282069393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is the product of all the numbers on the dial of a telephone?

A. 1,58,480

B 1,58450

C. 1,59,480

D. None of the above
Options:

12820627142, A
12820637144 B
12820637145, C
12820637146, D

Question Number : 13 Question Id : 1282069394 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the words below in a meaningful sequence
1. Yarn 2. Plant 3.5aree 4. Cotton 5. Cloth

TR PSR R
B.2.1,4,. 5,3
G2, 1.5,3
.24, =X, 1
Options:
12820637147 A
12820637145. B

12820627149, C
12820627150. D

Question Number : 14 Question Id : 1282069395 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the word which is different from the rest

A. Deer
B. Hippopotamus
C. Rhinoceros

D. Unicorn
Options:
12820637151, A
12820637152 B
12820637153, C
12820637154. D

Question Number : 15 Question Id : 1282069396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the word which is different from the rest

A. Stereo
B. Radio
C. Television

D. Loudspeaker
Options:
12820637155, A

128206237156 B
12820637157, C
12820627158, D



section B

Section Id : 128206267

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 15

Number of Questionsto be attempted: 15

Section Marks: 30

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 128206424
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 1282069397 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the equivalent for the expression ‘at the drop of the hat’

A.  As soon as it was spoken
B. Done easily, without any preparation
C. Donein an instant

D. After something is done
Options:

12820637159, A
12820637160, B

12820637161, C
12820637162, D

Question Number : 17 Question Id : 1282069398 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Choose the equivalent for the expression ‘at the spur of the moment’

A, Adifficult moment
B. Without delay

C. Great moment

D. Veryslow

Options:

12820637163, A
12820637164 B
12820637165, C
12820637166, D

Question Number : 18 Question Id : 1282069399 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What is the equivalent for the word ‘remote’
A. Distant
B. Automatic
C. Extremely

D. near
Options:
12820637167, A
12820637165 B
12820637169, C
12820637170.D

Question Number : 19 Question Id : 1282069400 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Choose the correctly spelt word from the following:

A. I|tenerary
B. Itinarary
C. Itinerary
D. Itinerery

Options:

12820637171 A
12820637172 B
128206371732, C
12320637174, D

Question Number : 20 Question Id : 1282069401 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the correctly spelt word

A. Occassionally
B. Ocassionally
C. Occasionally

D. Occasionaly
Options:
12820637175, A
12820637176 B
12820637177, C
12820637178 D

Question Number : 21 Question Id : 1282069402 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fill in the blanks with the correct word.

Warning! No authorized personnel ......... this point.

A. beyond

B. about

C. from

D. on
Options:

12820637175, A
12820637180 B
12820637181, C
12820637182, D

Question Number : 22 Question Id : 1282069403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

There is no exception ......... this rule.
A. For
B. At
G e
D. about
Options:

12820637183, A
12820627184 B
12820627185, C
12820637186, D

Question Number : 23 Question Id : 1282069404 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
| am going to buy something for dinner from the Chinese take.......

A.  away

B. out

.. o

D A

Options:
12820837187 A
128206327185. B

12820637189, C
12820627130. D

Question Number : 24 Question Id : 1282069405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Complete shutdown ........... observed today against the new law.

A. is being
B. isbeen
C. canbe

D. was been
Options:

12820637131, A
128206371392 B
128206371393, C
12820627134, D

Question Number : 25 Question Id : 1282069406 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
| don't have .........money to buy a new house.

A. enough

B. wvery much
C. little

D. too much
Options:

128206371385, A
128206271396 B
12820627137, C
12820637138, D

Question Number : 26 Question Id : 1282069407 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A ........is a person who is very rich and powerful, especially in industry.
A. Magnate
B. Tvyrant
C. Radical
D. Dictator
Options:

128206371399, A
12820627200, B
12820637201, C
12820637202 D

Question Number : 27 Question Id : 1282069408 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The committee decided to launch ‘Green Land’ Project for the
commemoration of Pt. Jawaharlal Nehru’s 130th birthday.

A. proposed

B. unanimously
C. strongly

D. recommended
Options:
128206837203, 4
12820837204, B
12820637205, C
12820637206, D

Question Number : 28 Question Id : 1282069409 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The school quality education in a home-like environment.

A. requires

B. hires

C. suggests

D. provides
Options:

12820637207, A
12820637208. B
12820637209, C
12820627210. D

Question Number : 29 Question Id : 1282069410 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Complete the idiomatic expression:

As thick as............

A. Thieves
B. Dictionary
C. Grass
D. Friends
Options:
12820637211, A
12820637212, B
12820637213, C
12820637214, D

Question Number : 30 Question Id : 1282069411 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Complete the idiomatic expression:

As smooth as ........
A. Skin
B. Kitten
C. Baby
D. Velvet
Options:

12820637215, A
12820627216 B
12820637217, C
12820637218. D

Section O
Section Id : 128206268
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 30
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 128206425
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 1282069412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is the largest island of Japan?

A. Hokkaido
B. Honshu

C. Kyushu

D. Shikoku
Options:
12820637219, A
12820637220, B
12820637221, C
12820637222, D

Question Number : 32 Question Id : 1282069413 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

Which of the following is not a name of a Japanese dish?
A. Sushi
B. Sashimi
C. Bulgogi
D. Okonomiyaki
Options:
12820637223, A
12820637224, B
12820637225, C
12820637226, D

Question Number : 33 Question Id : 1282069414 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The two countries sharing the same date of independence “15™ August” are :

A. India and China
B. India and Korea
C. India and Japan

D. India and Vietnam
Options:

128206837227, &
12820637228, B
12820637229, C
12820637230, D

Question Number : 34 Question Id : 1282069415 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Who among the following Chinese nationals has been awarded Padma Bhushan by

the Indian Government?
Tan Chung

Zhou Enlai

Tan Yunshan
Options:
12820837231, &4
12820637232, B
12820637233, C
12820637234, D

A
B. Ji Xianlin
.
D.

Question Number : 35 Question Id : 1282069416 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which is the longest river of Japan?
A. Shinano River
B. Sumida River
C. Tone River

D. Arakawa River
Options:
12820637235, A
12820637236 B
12820637237, C
12820637238. D

Question Number : 36 Question Id : 1282069417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The period of rapid economic growth in Korea is also known as:

A. Magic of Hallasan Mountain
B. Miracle of Land of Morning Calm
C. Magicon Tuman River

D. Miracle on the Han River
Options:

12820637239, 4
128206837240, B
12820837241, C
128206837242, D

Question Number : 37 Question Id : 1282069418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The crux of Confucian thought is

A. Benevolence

B. Trust

C. Propriety
D. Loyalty
Options:

12820637243, A
12820627244 B
12820637245, C
12820627246, D

Question Number : 38 Question Id : 1282069419 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which capital city is divided into two parts by a main river
A. Bejing
B. Tokyo
C. New Delhi

D. Seoul
Options:
12820637247 A
123206327248 B
12820827249, C
12820637250, D

Question Number : 39 Question Id : 1282069420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which year did Japan host its first summer Olympics?
A 1972
B. 1964
C. 1948

D. 1952
Options:
12320637251 A
12820637252 B
12820637253, C
12820637254, D

Question Number : 40 Question Id : 1282069421 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The capital of which of the following means ‘Red Hero'.

A. Japan
B. Mongolia
C. China

D. Korea
Options:
12820637255, A4
12820637256 B
12820637257, C
12820637258. D

Question Number : 41 Question Id : 1282069422 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



This desert is the largest desert in Asia and is the fifth largest in the world.
A. Thar desert, India
B. Tottori, Japan
C. Gobi, Mongolia

D. Mui Ne, Vietham
Options:
12820637259, &
12820637260, B
12820637261, C
12820637262, D

Question Number : 42 Question Id : 1282069423 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The 9% BRICS Summit was held in
A. New Delhi, India
B. Xiamen, China
C. Brasilia, Brazil

D. Yekaterinburg, Russia
Options:
12820637263, 4
12820637264, B
12820637265, C
12820637266. D

Question Number : 43 Question Id : 1282069424 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The large woodblocks with carving of the entire Buddhist canon in Korea are known
as:

. Tripicana
Tripikoryo

o ® p

Tripitaka

D. Tripioka
Options:
12820637267, A
12820637265, B
12820637269, C
12820637270, D

Question Number : 44 Question Id : 1282069425 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What is the name given to Japan’s national legislature?
A. Parliament

B. Duma

C. Diet

D. Congress
Options:

12820637271, A
12820637272 B
12820637273, C
12820637274, D

Question Number : 45 Question Id : 1282069426 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which flower represents the imperial family of Japan?
A. Sunflower
B. Chrysanthemum

C. Tulip
D. Orchid
Options:

12B8Z0E37275. A
12820637276 B
12820637277, C
128206237278, D

Question Number : 46 Question Id : 1282069427 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which country is not the part of the Shanghai Cooperation Organization?

A. India

B. China

C. Pakistan

D. Afghanistan
Options:

12820637275, A
128Z20627280. B
12820637281, C
12820637282, D

Question Number : 47 Question Id : 1282069428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which country has accused China of currency manipulation?
A. Russia

B. India

C. United States

D. South Korea
Options:
12820637283, 4
12820637284, B
12820637285, C
12820837286, D

Question Number : 48 Question Id : 1282069429 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Osama Bin Laden was killed in Pakistan by the Special US forces known as
A. MARINE

B. COBRA

G SEAL

D. BLACKCAT
Options:

12820637287, A
12820637288, B
12820637289, C
12820637230, D

Question Number : 49 Question Id : 1282069430 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The grandfather of the current President of North Korea was

Kim Il Sung
Kim Dae Jung
Kim Jong-Eun

0w P

D. Kim Jong-ll
Options:
12520627291 A
12820637292 B
12520637293, C
12520637294 D

Question Number : 50 Question Id : 1282069431 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following planets is known as “Morning Star”?

A. Mercury

B. Venus

C. Mars

D. Jupiter
Options:

12820637235, A
128206372396 B
12820637237, C
128206237238, D

Question Number : 51 Question Id : 1282069432 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Who is the author of the book ‘Around the World in Eighty Days’?

A.  William Shakespeare
B. V.S.Naipaul
C. JulesVerne

D. William Wordsworth
Options:
12820637299, 4
128206837300. B
12820837301, C
12820837302, D

Question Number : 52 Question Id : 1282069433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is not a permanent member of the UN Security Council?
A. China

BE. Russia

C. Japan

D. France
Options:

12820637303, A
12820627204 B
12820637205, C
12820627306, D

Question Number : 53 Question Id : 1282069434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Who is the first person to reach North Pole?
A. Robert Peary
B. Charles Hillary

C. Johan Don
D. Edmund Hillary
Options:

12820637207, A
128Z0627208. B
12820627309, C
12820637210, D

Question Number : 54 Question Id : 1282069435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
The 2010 World Cup Football tournament was held in
A. Austria
B. Germany
C. South Africa
D. Turin

Options:

12320637211 A
12820827212 B
12820637213, C
12820637214. D

Question Number : 55 Question Id : 1282069436 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which state has the largest coastline in India?
A. Gujarat
B. Tamil Nadu
C. Karnataka

D. Andhra Pradesh
Options:
12820637315, &
12820637316. B
12820637317, C
12820637318. D

Question Number : 56 Question Id : 1282069437 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



China’s National day is celebrated on

A. 2" October
B. 1*'October
C. 15" August

D. 26% January
Options:
12820637319, A
12820637320. B
12820637321 C
12820637322, D

Question Number : 57 Question Id : 1282069438 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The election of the South Korean Assembly is held every:

5 years
Whenever a new President is elected
3 years

D. 4 vyears
Options:
12520637323, A
12820637324 B
12820637325, C
12820637326. D

o wp

Question Number : 58 Question Id : 1282069439 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Boxers Revolution took place in

United States
South Africa
China

. Spain
Options:
12820637327 A
12820637328. B
12320637329, C
12820837220, D

=

Question Number : 59 Question Id : 1282069440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Who is regarded as the first patriotic poet of China
A. LiBai
B. TukFu
C. Bailuyi

D. Qu Yuan
Options:
12820637331, A
12820637332, B
12820637333, C
12820637334. D

Question Number : 60 Question Id : 1282069441 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The river on the border of China and North Korea is:

. Yalu
Imjin
Han

o0 ® P

Naktong
Options:
12820637335, A
12820637336. B
12820637337, C
128206837338. D

Section D
Section Id : 128206269
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 2
Number of Questionsto be attempted: 2
Section Marks: 10
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 128206426
Question Shuffling Allowed : Yes

Question Id : 1282069442 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (61to 62)
Cuesticon Label | Comprehension



Read the following passage and answer the questions:

In the 16th century, an age of great terrestrial exploration, Ferdinand Magellan led the first
expedition to sail around the world. As a young Portuguese noble, he served the king of Portugal,
but he became involved in the quagmire of political intrigue at court and lost the king's favor.
After he was dismissed from service by the king of Portugal, he went to Spain and offered his
services to the Emperor of Spain.

Sub questions

Question Number : 61 Question Id : 1282069443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The 16th century was an age of great .......... exploration.
A. land
B. cosmic
C. mental
D. none of the above
Options:

128206372339, A
12820627240 B
12820627341, C
12820637342, D

Question Number : 62 Question Id : 1282069444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Magellan lost the favor of the king of Portugal when he became involved in a political

A. discussion

B. negotiation
C. bargain

D. entanglement
Options:
12820637343, A
12820637344, B
12820637345, C
12820637346. D

Sub-Section Number: 2
Sub-Section Id: 128206427
Question Shuffling Allowed : Yes

Question Id : 1282069445 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (63 to 65)



uestion Lateal CDI‘I‘lpI‘EhEﬂSiDﬂ
Read the following passage and answer the questions:

The world's nuclear plants have accumulated vast stocks of highly radioactive waste.
Worldwide, high-level waste is currently stored above ground, and no government has a
clear policy on its eventual disposal. While most experts believe that burying the waste is
the safest bet in the long term, the problem is finding sites that everyone can agree are
geologically stable. Decaying radioactive isotopes release heat. As a result, high-level
waste must be constantly cooled; otherwise, it becomes dangerously hot. This is why
many experts want to store waste above ground until it has decayed and is cool enough
to be stored safely in sealed repositories several hundreds of metres below ground.
According to one recent theory, however, waste should be lowered down boreholes
drilled to 4 kilometres. The trick is to exploit heat generated by the waste to fuse the
surrounding rock and contain any leaking radioactivity.

Sub questions

Question Number : 63 Question Id : 1282069446 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
It is clear from the passage that the safe disposal of radioactive waste—-

A. is aproblem that has not attracted enough attention

B. remainsa global problem of great magnitude

C. isaproblemthat each government must decide for its own country
D

. will in all likelihood soon be resolved, and a clear policy agreed upon by
concerned governments
Options:
12820637347, A
12820637348. B
12820637349, C
12820637350, D

Question Number : 64 Question Id : 1282069447 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



As it is pointed out in the passage, many experts are of the opinion that radioactive

A. should not be stored underground while the radioactive isotopes continue to let
off substantial amounts of heat.

B. does not require to be cooled when stored above ground.

C. cannot be safely disposed of anywhere and the problem of what to do with it
intensifies as the amount increases.

D. should never be stored underground as it cannot then be monitored.
Options:
12820637351, &4
12820637352, B
12820637353, C
12820637354. D

Question Number : 65 Question Id : 1282069448 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The passage describes a new method, still only a theoretical one, for the disposal
of radioactive waste,

A. in which the radioactive isotopes are prevented from releasing heat

B. at a depth considerably less than the normally recommended but the chosen site
must meet certain geological requirements

C. whereby the heat produced by the waste will serve to seal it safely into the rock
under which it has been buried

D. which uses bore holes so that all sites are suitable
Options:
12820837355, 4
12820637356, B
12820637357, C
12820637358, D



